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Instructions regarding filling of OMR Sheet are | = 31UH.31R. ofic JFaf-erd fcer 30 ua3MR. offe W fera 31
PRI NAQE mentioned on the OMR Sheet only.

ym P I a The duration of the exam s 12 Hours. @ Udlen 3fafd 11, que &l i

The Question Booklet consists of 100 Questions, | = gauﬂa]gﬁﬂaﬂﬁ 100 U 2 de11 U U2 4 3ihl &I

each with 4 Marks. The maximum Marks are 2 | iftra 3id 400 E |

400.

Subject-wise division of 100 Questions are as| = el 100 Ui ®I fwRIarR fddeur s UBR 2 : aMfiid-25,

follows: Maths-25, Science-25, S.St.-20, fursir-25, Ao 37eR-20, 3ia30-20 3 WD

English-20, MAT-10. Ao TAEUI-10 U |

Candidates will be awarded 4 Marks for the | = 2 3@ oI ue ufd ues 4 3id ueH fpa siRiat |

indicated correct response to each question.

One mark will be deducted for the incorrect | =  aleid 3a oI U2 ufd U+ 1 3ich e IR |

response to each question.

Space for rough work is also provided in the | = Uﬁﬂlqﬁﬂﬂﬂﬁwmi\ﬁﬁwlﬂmﬁmaﬁﬂﬁ :

Question Booklet. 2

2
01. In Hardik's flower garden, 1o & red roses, —— are | 01. glfad & el & i ﬁ — ?ﬂ?fr KIS %
|

pink roses and the rest are blue roses ,what fraction of |

RGICIC I ICI ISR IRICIC %", ATl BT =T AR

the roses are blue ? | drars ?
(1) = @) — n o+

10 10 | 10 10

5 1 | 5 1
3) 10 “) 10 | 3) 10 @ 10

02. Which number should come in place of ? I 2 5 9 4 .
i_i_i l:i |02. E‘FE*‘EZIEEEWWEI%:[@WSW
10 10 10 10 | ey ?
()8 23 L s )3
37 @3 L @7 @
Space for Rough Work
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03.
04.

05.

06.
07.

08.

09.

10.

PRINCE OLYMPIAD EXAMINATION

CDI+ V + C + X is equal to |

(1)506 (2)401

(3) 406 4)516

Millions period consists of the places

(HM, T™M (2) M, T™M, HM

(3) TTH, HTH, M @O0, T M

Ifa, a+2 and a+4 are prime numbers then the value for
ais

(1) one (2) three

(3) two (4) more than three
Every number is a and a of itself.
(1) factor, multiple (2) prime, composite
(3) even, odd (4) none

Find the LCM of 9, 14, 15, 18, 12.

(1) 126 (2)252

(3)630

Find the value of X in the given expression.
832.58-24231=779.84-X

(1) 173.57 (2) 199.57

(3)295.05 (4) 189.57

When a number is divided by seven, it has a remainder
of 2. When it is divided by six, it has a remainder of 3.
What is the number ?
(16 (2) 38

(3)44 @9

A bag contains 25-paise and 50-paise coins whose total
value is Rs. 30. If the number of 25-paise coins is four
times that of 50-paise coins, then find the number of

each type of coins ?

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
|
(4) 1260 I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

| 03. CDI+V+C+X fRIeR &

04.

0s.

0

07.

4
5
6
8

08.

09.

10.

(1) 506 (2) 401

(3) 406 4)516

faffrg A e s 8
(HM, TM (2) M, TM, HM
(3) TTH, HTH, M (4)0,T,M

IfS a, a+2 3R at+4 IWTST TN &, ' @ forw wwrfad

HHTEE] DY R . H
(1) T® (2) =
3)ar (4) 9 9 arfdw
. TS AT T B D AR TP ... BT o
(1) IS, oS (2) 3T, fHisra
(3) &, fawH (4) @IS T8
9,14, 15, 18, 12 &1 LCM 3T X |
(1) 126 (2)252
(3) 630 (4) 1260

U U o | X BT A AT DY |
832.58-24231=779.84 -X

(1)173.57 ) 199.57

(3) 295.05 (4) 189.57

STe fopelt wver @ a9 oo fdsar o ®,
NG 2 91 & | 919 S9 BE | fawrford fdar S &,
Al W% 3 IOl & | I8 HET FT 8P

(1) 16 )38

(3) 44 4) 9

T & # 25 U 3R 50 09 & Ries & e @ sow
30 B9 & | AfS 25 U & Ryepl 1 wver 50 U9 @ Resi
B IR AT B, O YD UPR D (el I F@AT o1
DHIIY?

(1) 40 and 30 (2) 20 and 40 (1) 40 3R 30 (2) 20 3R 40
(3) 80 and 20 (4) 60 and 20 | (3) 80 3R 20 (4) 60 3R 20
Space for Rough Work
PCP sikar Class : VI/P-2 I IT-JEE | NEET | OLYMPIADS 2
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11. The least number which when decreased by 9 is exactly | 11. Ha BICT W1 Gl 9 GCH WR 12, 16, 24 AR 48 | YU
divisible by 12, 16, 24 and 48 is I forsa 8, =
(D16 (2) 48 | (D16 (2) 48
(3)57 4) 39 | (3)57 4) 39
12. The sum of all prime numbers between 55 and 68 is | 12. 55 3R 68 & a8 W TS HeTRAT BT AWT &
(D179 (2) 178 : (D179 (2) 178
(3) 187 (4)183 | (3) 187 (4)183
13. A bus travelled 30km to south, then 40km to north and | 13. U & 30 fb#l &feTor Y 37, fhv 40 fbH) SR BT MR
from 30km to west. How for did the bus travel ? | 3R v 30 Tt uf¥em @l 3R =rell | a9 < fovaeil g4
| T BI?
(1)-20 (2) 30 I (1)-20 (2) 30
(3)49 (4) 100 | (3)49 (4) 100
14. The mass of a bag is 2kg 890 g. What is the mass of 14 | 14. Ud 37 &1 Goa¥ 2 fBu1 890 U B 1 U 14 &1 &I
such bags ? | SN T 87
(1)40kg 460 g (2)30kg I (1) 40 3T 460 I (2) 30 fdoum
(3) 45kg 600 g (4) 43kg 300g | (3) 45 fbUT 600 I (4) 43 T 300 U™
15. Simplify: | 15. wRar
15-(-3){4-4}+[3{5+18}] I 15-(3){4-4}+[3{5+18}]
(1) 89 2) 15 | (1) 89 2) 15
(3) 16 (4) 88 | (3) 16 (4) 88
16. Four families went on a picnic .Each family carried a : 16. IR URAR fUHH®H IR 10 | gid URIR fUsHe & fog
cake for the picnic. 1 of each cake was caten. How : Uh Db oddb? T AT | YD b Bl % fewar @
much cake was eaten in all? I AT | el e @ @ I |
3 9 | 3 9
3 @ 1 | 3 @ 1
3)3 @1 I 3)3 @1
17. 1265 is divisible by | 17. 1265 % fowrsa @
(H2 23 | (H2 23
3) 10 @1 I 3) 10 @1
Space for Rough Work
PCP sikar Class : VI/P-2 I IT-JEE | NEET | OLYMPIADS 3



18.

19.

20.

21.

22.

23.

24.

25.

lalita read 2/5 of the same book. Who read less ?

I &P B 2/5 Ug | fbaE oH ugT?

www.princeeduhub.com | priNcE oLympiaD ExaMinaTion | o PcP i
From the sum of 233 and -147 subtract -284. I 18. 233 3R -147 & AT ¥ -284 " |
(1)370 (2)270 | (1)370 (2)270
(3)570 (4)470 | (3)570 o | (4)470
The largest three digit number which is exactly divisible | 19. HaH I T APl &F F=qT S 3 | PRUGRGRCRI g
by 3 is | w3
(1)997 (2) 996 : (1)997 (2) 996
(3) 992 (4) none of these | (3) 992 (4) 379 ¥ Bl T8l
What will be the total amount of three chairs and two | 20. < BT IR <1 #Gil BT et R @ 1A | Afe Tp
tables. If the cost of one chair and one table are rs.230 | G 3R T 7l BT BIAT HALT: 230 Y 31X 300 BT
and rs. 300 respectively I g
(1)Rs.1080 (2)Rs.1020 | (1) 1080 TUY (2) 1020 ST
(3) Rs. 1290 (4)Rs 1350 | (3) 1290 T (4) 1350 ©
What must be subtracted from 1000011 to get 234569 ? | 21. 2343569 Tl Bv- @ fer¢ 1000011 # & T T BINT?
(1) 754842 (2) 765432 | (1) 754842 (2) 765432
(3) 765442 (4) 6575432 I (3) 765442 (4) 6575432
The digits 6 and 9 of the number 36490 are interchanged. | 22. ¥ 36490 & 3(d 6 3R 9 P MU H gaet AT ST
Find the difference between the original number and | 2| T T 3R S AT @ dId IR HId DI |
the new number. |
(1)2980 (2)2970 | (1)2980 (2)2970
(3)2975 (4)3000 I (3)2975 (4)3000
Find the least number which when divided by 6, 7 8, 9 : 23, T8 W B WA S AT R 6.7 8,9 3R 10 W
and 10 leaves remainder 1. | AN S W AV 1 99|
(1)2345 (2)2521 | (1)2345 (2)2521
(3)2346 (4)2522 | (3)2346 (4)2522
If the product of two number is 864 and their HCF is 12, | 24. a3 <7 wvamaii @ U 864 © oI ST HCF12 &,
what is their LCM ? I T SHPTLCM T 81T
(1)865 2)72 | (1)865 2)72
3) 12 4)2 | 3) 12 4)2
ILA read 25 pages of a book containing 100 pages. | 25. ST = 100 Y| dlell Udh Y& b 25 TS UG | SAferar o
I
I
I

(1) ila has read less (2) lalita has read less (1) 3T 9 HH UgT (2) ST 9 &F ugr
(3) 100 pages (4) None of these | (3) 100 U5 (4) 39 ¥ BIs 8
Space for Rough Work
PCP sikar Class : VI/P-2 I IT-JEE | NEET | OLYMPIADS 4
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T
. Deficiency of iodine in the diet leads to: | 26. aMER ¥ JIREH & B U BT
(1) Kwashiorkor (2) Goitre : (1) FaTFRIRER (2) der
(3) Marasmus (4) Beriberi | (3) TREA (4) TG99
27. We use iodine solution to test the presence of'- | 27. B9 MAITS 9l &I SUART fhaa! Suflerfa o1 gdetor
| B @ o axd g
(1) starch (2) sugar : (1) =™ (2) TTDHA
(3) fibres (4) Fats | (2) BISER (4) T
28. Cows are animals. | 28. M ... SR B |
(1) poultry (2) Aquatic : (1) Tf wrer () wieha
(3) wild (4) pet | (3) SiTelT (4) gTerq,
29. Cooking food protects us from diseases. | 29. QT UM H TH ... TN | GRIEd ¥&d B |
(1) communicable | (1) Hshr¥h
(2) water-borne I (2) 5Tt ST
(3) food borne disease | (3) @& ST RN
(4) chronic | (4) Sirof
30. A simple device used for Spinning:- | 30. hdls & folv ST fham S aTeT Udh IRl SUhRu—
(1) loom (2) charkha : (1) &xEr (2) TRG@r
(3) Iron (4) all of them | DGR (4) 3
31. What happens when you shake a mixture of oil and water | 31. o9 29 ol iR U & Asror & oiR ¥ e & 3k
vigorously and then let it stand ? | Y I W Y8 < © ol 97 BIdl 67
(1) The liquids mix permanently : (1) 5@ el wu ¥ @3 g o 8
(2) They separate into two layers after some time | (2) BB T 918 I &I Ul # AT B O §
(3) They form a uniform solution | (3) I U FH °ied §491d ©
(4) The water evaporates | (4) UT=T aTfSg 81 ST @
32. Which of the following liquids is most likely to be I 32. f=forRad & 9 &9 91 g9 U= & 91T iAoy g4
immiscible with water ? | &I FEY AP FHATGT ©§ P
(1) Alcohol (2) Vinegar I (1) IR (2) R
(3) Lemon juice (4) Kerosene I (3) :ﬁq\aﬂ I @) g @1 aa
Space for Rough Work
PCP sikar Class : VI/P-2 I IIT-JEE | NEET | OLYMPIADS 5
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33. Which of the following properties is important for a | 33. <RI M ¥ SUART $I o7 arell arme & ferg fmferRaa
material used in making ropes ? I H I PIF A1 Hed Ul ©§ ?
(1) Brittleness (2) Flexibility | (1) wIRT PGCEIGIES]
(3) Transparency (4) Conductivity | (3) URE¥rar O EIREDI
34. Which of these materials is commonly used as a solvent ? : 34. STH ¥ &9 W 9l oAk WR fadd & W H
SYIRT $I ST 8 2
(1) 0il (2) Water : (1) Tt (2) U
(3) Alcohol (4) Vinegar | (3) IR (4) R
35. Which of the following is used to separate cream from : 35. forferiRad o 9 fddaT SUTRT S8 W 1A DI 3T B
milk ? @ fo fopar Sirar & ?
(1) Filtration (2) Decantation I (1) e (2) FreImR=T
(3) Churning (4) Evaporation | (3) Her A (4) ATTRRT
36. What process is used to obtain pure water from | 36. Fq&! ST | Y& U U1 < & forq fs ufshar or
seawater ? | SUANT foham Smar g °?
(1) Filtration (2) Sedimentation I (1) e (2) 3rgdre
(3) Decantation (4) Distillation | (3) =R (4) JTHIA
37. When two or more than two substances are mixed | 37. i@ &1 U1 &1 ¥ 31f&d ugreif I fwl 3rqUTd H T A1
together in any ratio then it is called a ? | et ST & A7 S d T dEd 57
(1) Winnowing (2) Mixture : (1) Frehe (2) Mo
(3) Evaporation (4) No one of these | (3) aTedhRoT (4) 379 & ®Ig T8l
38. The rate of sedimentation is increased by adding | 38. U H ... o™ ¥ 3reRATe @1 &R 98 Sl & |
to the water. |
(1) Salt (2) sugar : (1) 2) A=
(3) Alum (4) soap | (2) Theadr (4) A1
39. Rain water is a kind of | 39. YT BT YT Ub YbR Bl &
(1) saline water (2) Distilled water | (1) @WRT U (2) 3y STet
(3) carbonate water (4) saturated water | (3) PrEFT (4) Iq< SIE]
40. Cotton fibre is separated from cotton seeds by the I 40. U & N D U B o1 I T wfshan §RT 31T
process of : | ﬁv_ﬂT ST @
(1) Churning (2) Boiling | (1) 5219 (2) SETAT
(3) Colouring (4) Ginning I (3) I (4) 3T
Space for Rough Work
PCP sikar Class : VI/P-2 I IT-JEE | NEET | OLYMPIADS 6
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41. Removal of fleece from sheep is known as I 41. WS ¥ A M Bl & wWU H ST S 3 |
(1) Shearing (2) Rearing | (1) e (2) UTetH
(3) Rolling (4) None of these | (3) SferT (4) STH 9 DIs 8
42. Which of the following fibres is used for making | 42, frefaRad 9§ 9 &9 91 wigeR UNTRC, VY 3N AT
parachutes, ropes and sleeping bags ? : T g @ forw AT fobar Sirar & ?
(1) Rayon (2) Nylon | (1) T W EILEIE]
(3) Polyesters (4) All of the above | (3) uifergeex (4) SIRKRH AT
43. Which of the following statements is not true about wool- | 43. fr=faRad 3 9 9 91 B9 39 @ R § 9 T8 5
A natural form of fibre ? : WISEN T b UTpicih wY ?
(1) Wool fibre is obtained from sheep | (1) S R ¥ ¥ U BT &
(2) Wool fibre is obtained from moth | (2) 31 BIZER ga W YT BIdl ©
(3) Wool fibre is obtained from llama I (3) &1 BISER T ¥ UTW 8T &
(4) Wool fibre is obtained from Alpaca | (4) S WISER IUTHT H U BIAT ©
44. Which set of substances is not used for making | 44. ggrelf & fbu HHE DT SYANT WIgeR &1 P forw =8Y
fibres? | oo Smar § °?
(1) Silk, chemicals I (1) XM, 9=
(2) Yak hair, camel hair | (2) TTH & dTc, $T d a1l
(3) Husk, bones | (3) 0, sfEaf
(4) Flax, wool | @ e
45. Beerais a farmer. His field has black soil and the climate : 45. 91 TP (G 8 | SHS Wd ¥ Proll el & 3R Serary
is warm. Which fibre yielding plant should he grow in | T B S U W H B AT BISER G drel Ui
his field ? I ST ATfRY?
(1) Jute (2) Cotton : (1) S (2) BT
(3) Coconut (4) Wool | (3) RIS OKA
46. Which of the following nutrients is not present in milk ? | 46. fr=ferRad # & &9 |1 dvd T o # HﬁTrj\—c{ qE 7
(1) Protein (2) Vitamin C | (1) v (2) Re®= ¢
(3) Calcium (4) Vitamin D I (3) Dfcerad @) faerif= D
47. Which vitamin is destroyed during heating ? | 47. T TRA R BIF T faerfid 9w 8 9§ ?
(1) Vitamin A (2) Vitamin K | (1) faeTi T A (2) Rer®= K
(3) Vitamin C (4) Vitamin D I (3) Rer®=1 ¢ (4) e« D
Space for Rough Work
PCP sikar Class : VI/P-2 I IT-JEE | NEET | OLYMPIADS 7
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48.

49.

50.

PRINCE OLYMPIAD EXAMINATION

Which of the following is an example of an impure
substance?

(1) Distilled water
(3) Saltwater

(2) Pure gold I
(4) Oxygen gas |
Which mixture can be separated using a separating |
funnel? :
(1) Salt and water |
(2) O1l and water |
(3) Sugar and water |
(4) Milk and water |
What happens to the particles of a solid when it is I
heated ? |
(1) They move slower |
(2) They move closer together |
(3) They move faster and spread apart |
(4) They stop moving I

I 2pcr
48. fy=forRaa & A &9 W arglg ycret &1 IR
27
(1) 3mga &t @) T8 w1
(3) @RI U= ) Sl

GIEBRU] 1Y BT SYANT b (b AT BT 37T T
ST HehdT B 2

(1) T9® 3R g

(2) I 2R T

(3) AT 8k U

(4) 3 3R T

ST B T B IR D BN BT FAT BIAT & P

(1) T iy 1T & et €

(2) T TP SE @ DY AT &

(3) IOl 9 Fofd & 3R R Bt O &
(4) T I g€ IR < &

Space for Rough Work

PCP, Sikar
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. Which language was earlier used by common people? | 51, 3 @RI gRT Ugel fobd VT @bl ST fehaT ST 2T

52.

53.

54.

55.

(1) Gujarati (2) Rajasthani

(3) Prakrit (4) Tamil

Hunter gatherers used various type of tools made of.
(1) Stone (2) Wood

(3) Bone (4) All of these

Archacologist discovered house built by the people in

Burzahom were generally made:

(1) Using stilts

(2) Using tents

(3) In the group in pits

(4) Using bamboo

Which metals were used to make ornaments ?
(1) Gold (2) Silver

(3) Both (1) and (2) (4) None of these
When was the cotton grown ?

(1) 5000 years ago (2) 7000 years ago
(3) 6000 years ago (4) 9000 years ago

52.

53.

54.

55.

(1) ORI (2) JTSTRRATT

(3) w1 (4) dffer

RIEN—IEd I ThR & JSTRT &7 SRHE R 9
(1) 9 (2) dDE

3) T (4) =78 4 Wl

qRIAIG] = U b goigr™ § @Ml §IRT &Y 3¢ 8-
I TR U= 917 ST o

(1) Reee &1 SYART B

(2) < BT SYART IR

(3) gl # W #

(4) 919 BT STIANT TRD

YT g4 @ Y T T T SUANT fevar Srar P
(1) |7 (2) arer

(3) (1) 3R (2) <1 (4) 5T ¥ DI T8I

DUTH D AT AT 2T 7
(1) 5000 AT U

(3) 6000 AT U

(2) 7000 AT U
(4) 9000 AT U

56. A person who is trained to do only one kind of work ? | 56, ue fth T Pdel Uh &) N8 BT BIH B D U
gfrferT far S © 2

(1) Multi Tasker (2) Scholar (1) e TRAR (2) fag™

(3) Specialist (4) None of these (3) fagiost (4) 379 & ®Ig T8l
57. What is Soma ? 57. GH @13 ?

(1) The God of fire (2) The rain God (1) 31 <aar (2) a9t <aar

(3) A plant (4) A language (3) U Ul (4) TP AT
58. Sanskrit is the part of which family of language ? 58. Q—Nc‘{)q fop w7 URaR &7 o= 2 ?

(1) Indo European (2) Indo Asian (1) =1 R P ESIRNELE]

(3) Indo park (4) Indo austro DESRIC] (4) 31 3T

Space for IRough Work
PCP sikar Class : VI/P-2 I lIT-JEE | NEET | OLYMPIADS 9
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59. Pole star tells the; I 59. gd AR gQrdl &;
(1) Western direction (2) Eastern direction | (1) uf=ryy fesm 2) Tﬁ e
(3) Southern direction (4) Northern direction | (1) sferoft e (4) ST &=
60. Asteroids are found between the orbit of : | 0. glsus FefeTiRad @ detrsll & 4 Y Sird o
(1) Earth and Mars (2) Jupiter and Saturn : (1) g 3R HTeT (2) F5wfa 3R =i
(3) Mars and Jupiter (4) Saturn and Uranus | (3) HTeT 3R gswi?l (4) o9 3R ?}?:I’\q
61. latitudes are measured in: | 61. swerrert @ #maT SITdm &
(1) Centimetre (2) Inches : (1) dEHeR (2)sa
(3) Degree (4) Gram | (3) T (4) atH
62. British royal observatory is located in: | 62. fafesr Aaar Jeremett waf R &
(1) Switzerland (2) Greenland | (1) Racordts @) ks
(3) Toronto (4) Greenwich I (3) TRel (4) ¥=faa
63. Northern half of the Earth is known as: | 63. QA BT IR AT AN 6 M § ST A1l &
(1) Northern hemisphere  (2) Southern hemisphere | (1) TN TreITef (2) <feroft remef
(3) Equator (4) None of these I (3) {HA X T (4) 379 & ®Ig T8l
64. Pashmina wool is obtained from which animal. | 64. g 31 fohd SR 9 U1 BT © |
(1) rabbit (2) sheep | (1) @ Q) ¥
(3) goat (4) yak | G) s (4) TP
65. National anthem and national flag are icon of. : 65, XIS 3N I et fhaaT udie =
(1) unity (2) diversity | (1) Uopdt (4) Tafaerar
(3) tradition (4) religion | (3) WuxT (4) e
66. One major reason for Muslim girls not attending school : 66. TdH UG PR GRAH cTsidbal & [T whnel | ST AT
or dropping out from school at an carly age after few | ®H 9 H B Wl Blg o o
years is: |
(1) lack of willingness (2) superstitions | (1) 3BT BT AT (2) Sfefdramy
(3) poverty (4) lack of awareness I (3) TIRIET (4) SIRTREGAT & HHT
67. American woman gained the right to vote in. | 67. MR® AT BT dlc 31 BT AfTBR HaT |
(1) 1920 (2) 1921 | (1) 1920 (2) 1921
(3) 1930 (4) 1931 I (3) 1930 (4) 1931

|
Space for Rough Work

PCP, Sikar Class : V1/P-2 I IIT-JEE | NEET | OLYMPIADS 10
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68. The government also work at local level' Local' means: | 68. WROR WM WR W 4 M BT & WA B 31

(1) Locality
(3) Town

69. 'Suffrage' refers to:
(1) the right to eat
(2) the right to live
(3) the right to vote
(4) the right to suffer

(2) Village
(4) All of these

70. What is the key point of democracy ?

(1) Citizen must be able to enjoy basic rights

(2) The citizen should know about their duty and rights

(3) Citizen should know about the government policies

(4) All of above

69.

70.

8

(1) Serepl (2) Tia

(3) TN (4) 3 |¥

HAARGR I e &

(1) W @7 SMfABER

(4) STH @1 SrfIdR

(3) dIc &1 & JARPR

(4) B HEH BT JAWPR

s &1 g7 fig @ g ?

(1) TRIR® BI AT ARBRI BT 3 o H Hed
BIMT =BT

(2) IFIR® ®I U By 3R AMBRI & aR § uar
BIMT =BT

(3) AMR® &I TRBRI Hifdl @ IR # Tdr 81 ATy

(4) SURRH AT
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71.

72.

73.

74.

75.

Which of the following words functions as an adjective | 76. Identify the type of sentence: "While she was studying,

in the sentence: "The ancient ruins are fascinating"? |
(1) Ancient (2) Ruins

(3) Are (4) Fascinating

What is the role of the word "if" in the sentence "If you
call me, I will come" ?
(1) Conjunction

(3) Noun

(2) Adverb
(4) Preposition
In the sentence "She looked through the window

with interest,” which word is part of the prepositional

phrase ?
(1) She (2) Looked
(3) Through (4) Interest

hardworking," what is the function of "not only... but
also"?

(1) Correlative conjunction

(2) Coordinating conjunction

(3) Subordinating conjunction

(4) Adverbial phrase

Which sentence uses a determiner correctly ?

(1) Many people enjoy hiking in the mountains.

(2) She gave the book to him.

(3) He always finds the time to help.

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
In the sentence "He is not only intelligent but also I
I
I
I
I
I
I
I
I
I
I
I
I
I
(4) They are going to visit relatives. I
I

her friends went to the movies."
(1) Simple

(2) Compound

(3) Complex

(4) Compound-complex

. What is the role of a pronoun in a sentence?

(1) To replace a noun
(2) To describe a verb
(3) To connect clauses

(4) To specify a place

. Which sentence correctly uses an adjective ?

(1) She runs fast.

(2) The very tall man walked in.
(3) The cat slept quietly.

(4) They went to the store.

. What type of adverb is "rarely" in the sentence "She

rarely eats out"?

(1) Adverb of time

(2) Adverb of manner
(3) Adverb of place

(4) Adverb of frequency

. Which of these is an example of a complex sentence?

(1) She likes apples.

(2) I went to the store and I bought milk.
(3) If it rains, we will stay indoors.

(4) The cat sleeps on the bed
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81.

82.

83.

84.

85.

86.
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What is the purpose of a determiner ?

(1) To describe how something is done

(2) To specify or limit a noun

(3) To show an action

(4) To connect clauses

Which of the following is an example of an adverb ?
(1) Yesterday (2) Car

(3) Friendly (4) He

Which word in the sentence is a coordinating
conjunction? "I wanted to go swimming, but it was too
cold."

(1) Wanted (2) To

(3) But (4) Cold

Identify the direct object in the sentence: "She gave him
agift."

(1) She (2) Gave

(3) Him 4) Gift

Which sentence demonstrates correct subject-verb
agreement ?

(1) The team are winning the game.

(2) The books is on the table.

(3) The children plays outside every day.

(4) The dog barks loudly at night

What is the role of "who" in the sentence "The teacher,
who loves literature, is very kind"?

(1) Subject (2) Object

(3) Relative pronoun (4) Conjunction

90.

87.

88.

89.

In the sentence "The committee is meeting today," what
is the role of "is" is ?

(1) Auxiliary verb

(2) Main verb

(3) Adjective

(4) Adverb

Which sentence correctly uses a possessive noun?

(1) The dogs toy was on the floor.

(2) The dogs' toy was on the floor.

(3) The dog's toy was on the floor.

(4) The dogs toys was on the floor.

What type of adjective is used in the sentence: "Our
team won the championship game"?

(1) Descriptive adjective

(2) Quantitative adjective

(3) Possessive adjective

(4) Demonstrative adjective

Which type of adjective is used in the sentence: "She
wore a beautiful dress to the party"?

(1) Descriptive adjective

(2) Quantitative adjective

(3) Demonstrative adjective

(4) Possessive adjective
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91.

92.

93.

94.

95.

96.

97.

end and 14th letter from right end in English alphabet ?

Look at this series : 16,4, 1, Z ....... What number |
should come next ? :
1 1 |

M 54 @) 81 :
2 1 |

3 3 OFr |
Look at this series 8,2,4,-2,0,-6, ........ ‘What number I
should come next ? |
(1)0 2) 4 |
(3)2 1 I
ABZ, BCY, CDX, ......... |
(1) EVG (2) DWE |
(3) DEX (4) DEW I
aab cc a b c |
(1) babc (2) bbac |
(3) abca (4) aabb |
AC, EG IK, |
(1) MO (2) MN I
G) LM (4) HP |
Sort these words into alphabetical order and mark the :
last one . |
(1) Pillow (2) Pilgrim |
(3) Pigment (4) Pile I
Which letter is the midway between 3rd letter from left I
I

I

I

I

I

91.

92.

93.

94.

95.

96.

97.

g—\q&l@waﬁé‘@ 16412

BT =By ?

1 1
M 54 @) 81

2 1
3 3 OFr
9 W@l Bl < 8,2, 4,-2,0,-6, ... ... SATCAT HeT
1 BN AMBY?
(1o (2) -4
3)2 @1
ABZ, BCY, CDX, .........
(1) EVG (2) DWE
(3) DEX (4) DEW
aab cc a b c
(1) babc (2) bbac
(3) abca (4) aabb
AC, EG IK,
(1) MO (2) MN
3) LM (4) HP

3 TIE] DI qUHTCT hH H FafRkerd & 3R 3ifes @f
fafed & |

(1) Pillow (2) Pilgrim

(3) Pigment (4) Pile

3IISH quiHTAT # 910 | AR 31eTR 3R]0 ¥ 149 3eR
@ 1 | BF 91 3BR B7?

(HH )G (H)H )G
3 F 4 E 3 F 4 E
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98. If x means +, - means x, +~ means + and + means -, then | 98. I x dIael + 3, - draef x g, + &1 3Rl + 8 3R +
(20+1+3)x6-2="7 | ®1 31k - B, Al (20+1+3)x6-2= "7
(-1 2)2 (-1 2)2
3)6 (4) None 3)6 (4) None
99. If Q means 'add to', J means ' multiply by ', T means ' | 99. If& Q T 31ef ‘ST 8, J BT 31f U AT &, T BT
aref "ge™T © 3R K &7 2ref AT <7 8,
80K20J8Q2T6 =7

subtracted from' and K means ' divide by ',
80K20J8Q2T6 =7

(1)22 (2)28 (1)22 (2)28
(3) 47 477 (3) 47 477
100. Select the correct set of symbols which will fit in the | 100. Ul BT HET g g Gl ST 7T FABRYT 4 fthe BATI
given equation 9 1 8 2 =25 918 2=25
(1) x, x, x 2)-, +, x (1) x, x, x 2)-, +, x
(3) x, +, (4)+, - % (3) x, +, (4)+, - %

I
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